Solving Exponential Equations

SAT Question:

Name:					Date:
Topic:					Class:
Main Ideas/Questions	Note	s/Examples			
SOLVING	1	Use the properties of exponents to SIMPLIFY each side of the equation.			
EXPONENTIAL	2	Rewrite the equation	on so both :	so both sides have the SAME BASE .	
EQUATIONS	3	Drop the bases and	SET THE EX	ΧI	PONENTS EQUAL TO EACH OTHER.
Type 1 – Equations with a	Comn	non Base			
1. $2^{x+1} = 2^9$			2. 5 ⁴ n+5 =	= :	5 ^{<i>n</i>-7}
$3. \ 3^k \cdot 3^{k+2} = 3^{5k-1}$			4. 10 ⁻⁴ ·10	0	$^9 = 10^{v+4} \cdot 10^{2v-11}$
Type 2 – Equations withou	Type 2 – Equations without a Common Base				
5. $6^{2x-10} = 36$			6. $2^{p-7} =$		
7. $7^{4x+11} = \frac{1}{7}$			8. 32 = 2 ²	2m	-9
9. $27^{2x+6} = 3^{2x}$			10. 4 ^{y+2}	=	16 ^{y-3}

44 12F ^V 2F	12. $16^{3x} = 8^{x+2}$
11. 125 ^y = 25	12. 16 = 8 · · ·
13. $4^{3x} = 8^{x-1}$	14. $81^{2x+5} = \left(\frac{1}{3}\right)^{2x}$
	14. $81^{2x+3} = \left(\frac{\pi}{3}\right)$
	(3)
15. $8^{2a-1} = 32^{2a+1}$	16. $27^{2x} = 243^{x-2}$
15. 8 = 32 = 32	16. 2/ = 243
17. $64 = 4 \cdot 4^{4x}$	$18. \ 9^{2x+4} \cdot 9^{2x} = \frac{1}{81}$
	81
19. $\frac{1}{7} = 49^{x-5} \cdot 7^{x-9}$	$\frac{1}{20}$ 4^{2x} $\frac{1}{20}$ 4^{6x} +18
7 7 7	20. $4^{2x} \cdot \frac{1}{16} = 4^{6x+18}$
	© Gina Wilson (All Things Algebra), 2015
	, , , , , , , , , , , , , , , ,

Name:		Unit 7: Exponential & Logarithmic Functions			
Date:	Bell:	Homework 2: Solving Exponential Equations			
k	** This is a 2-pag	ge document! **			
Directions: Solve each equation using a common base.					
$1. \ 9^{3x-7} = 9^{5-x}$	J	$2. \ 2^{w+4} \cdot 2^{4w+6} = 2^{2w+1}$			
3. $8^{6y+4} = 64$		$4. \ \frac{1}{5} = 5^{2c+3}$			
5. $\frac{1}{27} = 3^{4m-1}$		6. $216 = 6^{2r-11}$			
7. $2^{3k-1} \cdot 2^{5k-7} = 16$		8. $4^n \cdot 4^{2n-9} = 64$			
		© Gina Wilson (All Thines Alcehra), 2015			

9. $8^{x+2} = 4$	10. $125 = 25^{2h+1}$
11. $49^{p+1} = 343^{2p}$	12. $16^{r-2} = 64^{r+2}$
12. $27^{3n} = 81^{2n+1}$	14. $\left(\frac{1}{4}\right)^{2x} = 32^{4x-2}$
	(4)
15. $16 \cdot 2^{6m} = 2^{3m-8}$	16. $\left(\frac{1}{9}\right)^a \cdot \left(\frac{1}{3}\right)^a = 3^{16-a}$
	$\left(\frac{20}{9}\right)^{1}\left(\frac{3}{3}\right)^{1}=3$
17. $256^y \cdot 16^{y-1} = 4^{2y-22}$	18. $36^{n-3} \cdot 216^n = 216^{2n+1}$

© Gina Wilson (All Things Algebra), 2015

Name:					Date:	
Topic:					Class:	
Main Ideas/Questions	Note	Notes/Examples				
SOLVING	SOLVING (1) Use the properties of			of exponents to SIMPLIFY each side of the equation.		
EXPONENTIAL	2 Rewrite the equation		on so both sides have the SAME BASE.			
EQUATIONS	3	Drop the bases and SET THE EXPONENTS EQUAL TO EACH OTHER.			PONENTS EQUAL TO EACH OTHER.	
Type 1 – Equations with a	Comm	non Base				
1. $2^{x+1} = 2^9$			2. 5 ⁴ⁿ⁺⁵ =	= .	5 ⁿ⁻⁷	
X+1=9			40+	ŀ	5= n-7	
[X=8]			31	Y	1+5=-7	
				٤	3n=-12 [n=-4]	
3. $3^k \cdot 3^{k+2} = 3^{5k-1}$			4 . 10 ⁻⁴ .10	n ⁵	$\theta = 10^{\nu+4} \cdot 10^{2\nu-11}$	
					= v+4 + 2v-11	
K+K+2 = 5K-			5 = 3v-7			
2K+2=5K-1		12 = 34				
3=3k [1=K]				L	1=V	
Type 2 – Equations without a Common Base						
5. $6^{2x-10} = 36$			6. $2^{p-7} = 8$			
$6^{2\times -10} = 6^2$			2p-7.	=	· 2 ³	
2x-10=2		p-7=3				
2X=12 $X=6$]	$\rho = 7 = 3$ $\rho = 10$			
			<i>'</i> -			
7. $7^{4x+11} = \frac{1}{7}$			8. 32 = 2 ²			
74X+11=7-1			2 ⁵ =	•	2 ^{2m-9}	
4x+11=-1					m-9	
4x=-12 X	-3		14 =			
9. $27^{2x+6} = 3^{2x}$ $(3^3)^{2X+6} = 3^{2X}$			10. 4 ^{y+2} : 니잉 ⁺²		16 ^{y-3} = (4 ²) ^{y-3}	
6x+18 = 2x						
8 = -1X			y.	ار ار	+2=2y-6	
-9/2 = X			9	7	18 = 2y 8=y	
				_		

$\begin{array}{l} 11. \ 125^{y} = 25 \\ (5^{3})^{9} = 5^{2} \end{array}$	
3y=2	12x = 3x+6
y=2/3	
[3-13]	9X = 6 $X = 2/3$
13. $4^{3x} = 8^{x-1}$	14. $81^{2x+5} = \left(\frac{1}{3}\right)^{2x}$
$(2^2)^{3x} = (2^3)^{x-1}$	$(3^{4})^{2X+5} = (3^{-1})^{2X}$
6x = 3x-3	·
· ·	8X+20 =-2X
3x=-3 [x=-1]	20 = -10x [-2=x]
	·
$15. \ 8^{2a-1} = 32^{2a+1}$	16. $27^{2x} = 243^{x-2}$
$(2^{3})^{2a-1} = (2^{5})^{2a+1}$	$(3^3)^{2X} = (3^5)^{X-2}$
6a-3 = 10a+5	6x = 5x - 10
-4a-3 = 5	X = -10
-4a=8	
a=-2	
17. 64 = 4·4 ^{4x}	18. $9^{2x+4} \cdot 9^{2x} = \frac{1}{81}$
43 = 4'-4 ^{4x}	$9^{2X+4} \cdot 9^{2X} = 9^{-2}$
3=1+4×	2x+4 + 2x = -2
2=4X	4x =-6
\(\frac{1}{2} = \times \)	X = -3/2
19. $\frac{1}{7} = 49^{x-5} \cdot 7^{x-9}$	20. $4^{2x} \cdot \frac{1}{16} = 4^{6x+18}$
$7^{-1} = (1^2)^{X-5} \cdot 7^{X-9}$	42x . 4-2 = 46x+18
-1 = 2x - 10 + x - 9	2x-2 = 6x+18 -4x-2 = 18
-1 = 3X-19	_4X=20 X=-5
18 = 3× [6=X]	

Name:	u	Init 7: Exponential & Logarithmic Functions	
Date:	Bell: Homework 2: Solving Exponential Equations		
	** This is a 2-page	e document! **	
Directions: Solve each equa	ation using a common	base.	
1. $9^{3x-7} = 9^{5-x}$		$2. 2^{w+4} \cdot 2^{4w+6} = 2^{2w+1}$	
3x-7 = 5-x 4x-7 <i>=</i> 5		w+4 + 4w+6 = 2w+1	
***		5w+10 = 2w+1	
4X=12		3w = -9	
X=3		w=-3	
$3_{4}8^{6y+4}=64$		$4. \frac{1}{5} = 5^{2c+3}$	
864+4 = 82		$5^{-1} = 5^{2c+3}$	
6y+4=2		-1-26+3	
6y=-2		-4 =2C	
y = -43		-2=C	
5. $\frac{1}{27} = 3^{4m-1}$		6. 216 = 6 ^{2r-11}	
3-3 = 34m-1		63 = 62r-11	
J		3=25-11	
-3 = 4m-1		14=2r	
-2=4m		[7=r]	
-1/2=m			
7. $2^{3k-1} \cdot 2^{5k-7} = 16$		8. $4^n \cdot 4^{2n-9} = 64$	
$2^{3k-1} \cdot 2^{5k-7} = 2^4$		4n.42n-9 = 43	
3K-1+5K-7 =4		n+2n-9=3	
8K-8=4-		3n-9=3	
8K=12		3n=12	
K= 3/2		n=41	

	21.1
9. $8^{x+2} = 4$	10. $125 = 25^{2h+1}$
$(2^3)^{X+2} = 2^2$	$5^3 = (5^2)^{2h+1}$
3x+6=2	3=4h+2
3x = →	1=46
X=4/3	
	74=h
11. $49^{p+1} = 343^{2p}$	12. $16^{r-2} = 64^{r+2}$
$(7^2)^{p+1} = (7^3)^2 p$	$(4^2)^{r-2} = (4^3)^{r+2}$
2p+2 = 6p	2r-4 = 3r+6
2=4p	-4=r+b
Y2=P	-10=r
12. $27^{3n} = 81^{2n+1}$	14. $\left(\frac{1}{4}\right)^{2x} = 32^{4x-2}$
$(3^3)^{3n} = (3^4)^{2n+1}$	$\left(\frac{4}{4}\right)^{-32}$
	$(2^{-2})^{2x} = (2^{5})^{4x-2}$
9n = 8n+4	-4x = 20x-10
n=4	- 24x = -10
	$X = \frac{5}{12}$
15. $16 \cdot 2^{6m} = 2^{3m-8}$	16. $\left(\frac{1}{9}\right)^a \cdot \left(\frac{1}{3}\right)^a = 3^{16-a}$
24.26m = 23m-8	
	$(3^{-2})^{a} \cdot (3^{-1})^{a} = 3^{16-a}$
4+lem = 3m-8	-2a-a = 16-a
3m = -12	-20=16
m=-4	a=-8
17. $256^y \cdot 16^{y-1} = 4^{2y-22}$	18. $36^{n-3} \cdot 216^n = 216^{2n+1}$
(44) y. (42) y-1 = 42y-22	$\left(\left(\wp^{2}\right)^{n-3}\cdot\left(\wp^{3}\right)^{n}=\left(\wp^{3}\right)^{2n+1}$
Hu + 24-2 = 24-22	2n-6+3n = 6n+3
4y + 2y - 2 = 2y - 22	5n - 6 = 6n + 3
6y-2=2y-22	-9=n
4y=-20 [y=-5]	